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RERAD 46 38 33.789 18.210 1
5 RET 31 37 41 17 0
=AHLHER 31 37 4 17 0
BmEt 0 0 0 0 0
T DD THET 1,594 2,173 1,677.478 1,289.512 1,110
BT 415t 236 251 289. 833 163. 428 60
REt 1,830 2,424 1,967.311 1,452. 940 1,170




smag7A10B8d SERLEFIKKEHZSEE HEGR (REEHIAOEREBORARRI—K) 5 - AR S

B ORR
EHEEEXEEZER
BREQAT
BHERER
BEES 9 10 11 12 13 14
EXH/REEHES Ll e #B F h T R ® 2 h v FLI4¥ B OB O & F n D &
i=Fidiil 418.722 259 16 184 51 1 636
E il 33. 684 124 8 47.602 14 4 124.394
INVET 9. 450 26 7 6 5 2 75
AHFH 14.933 29 1 14 8 1 123
BT 18 21 1 19 3 2 131. 472
fimiIh 69.971 43 2 25. 675 10 2 149
hh o 19. 684 37 6 29 4 1 102. 245
A 83. 641 74 3 32 10 4 189. 790
wAH 101. 935 95 11 54 19 1 288.017
7K ST 23 20 4 9 2 0 53
HHER 23 20 4 9 2 0 53
it FH T 2 1 0 2 0 0 3
S IR 2 1 0 2 0 0 3
P it A T 1 5 2 2 2 1 35
[ES 7 5 2 2 2 1 35
B AT 25 22 4 13 4 0 53
FHA 2R 25 22 4 13 4 0 53
SIERHT 2 3 0 15 0 0 11
=ZHE 2 3 0 15 0 0 11
AT 3.044 4 1 15 1 0 23.418
EEH AT 5 4 1 6 0 0 15
RERAD 8.044 8 2 21 1 0 38.418
5 RET 4 10 0 1 5 1 30
=AHLHER 4 10 0 1 5 1 30
BmEt 0 0 0 0 0 0 0
T DD THET 770. 020 108 55 411.277 124 24 1,818.918
BT 415t 71.044 69 12 69 14 2 223.418
REt 841. 064 1717 67 480. 277 138 26 2,042.336




SHA4%E7 81 0B#T

Bz

eI REH

2 HERR REBEEHIAOKRERBORARR—%)

=

e - 5K 5

iE3

DHER

EHEEEXEEZER

BREQAT
BHERER

BEES 15 17 18 19 20
EXH/REEHES LEwE Z T D = m R FEPE FALVE & L & # % B F
i=Fidiil 62 334 345 256. 859 25 178.936 435
E il 19 24 128. 953 99 13 17 108
INVET 2 24 19 22.174 2 9 110
AHFH 6 14 42 44. 880 0 2] 160
BT 6 1 36 36 2 12 64
fimiIh 9 46 95 70 8 57 100
hh o 2 88 32 22.289 2 15 137
A 10 101 129 82.725 8 55 229
wAH 12 82 113. 949 109. 668 8 44 303
7K ST 1 80. 733 16 24 1 9 20
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P it A T 4 66 1 0 0 5 24
[ES 4 66 7 0 0 5 24
S AT AT 1 127 29. 966 37 4 12 65
FHA 2R 1 1217 29. 966 37 4 12 65
X IERT 4 53 9 9 0 4 110
=ZHE 4 53 9 9 0 4 110
AT 1 86 9 8.212 2 2 7
EEH AT 4 58 3 5 5 2 13
RERAD 5 144 12 13.212 1 4 20
5 RET 3 185 8 1.280 4 1 93
=AHLHER 3 185 8 1.280 4 1 93
BmEt 0 0 0 0 0 0 0
T DD THET 128 120 940. 902 743. 595 68 414.936 1, 646
BT 415t 26 701. 733 82. 966 90. 492 16 35 340
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